Dr. Mangesh

MBBS, MD.



Super Speciality Hospital Your Trust, Our Service

OPD Prescription

OPD No.

: 1879

Patient Name : Karuna Jha

Date

: 31/03/2025

Age / Sex

: 10 days/ F

Address

UHID No.

: Basantpur, Jhitkahi, Muz.

Temp:

Weight:

B.P.

Pulse :

olarelyn (

: 3368

Quik Admit

Mardon of the

Admil)

Ay Poy 1

My Onlaw

Suspend -Morfrull 200 -

BONA BY

Satyam Super Speciality Hospital

Unit of Satyam Medical Care Pvt. Ltd.

Maripur (Opp. Satyam Paramedical College & Research) Muzaffarpur-842001, Bihar Email: satyam_hospital@yahoo.com

Mob.:

3/103/4

Attn: Mother Concern

Fund Support Requisition for Economically Weaker Section

Reference No.

UHID :- 3368

OPD NO. 1879

DATE:- 31/03/2025

| PROFORMA INVOICE/FUND REQUISITION REPORT | |
|--|--|
| Satyam Super Speciality Hospital (A unit of Satyam medical care Pvt. Ltd.) | |
| Opp. Satyam Paramedical College And Research | |
| Maripur, Muzaffarpur, 842001, Bihar | |

| Patient Name: | Karuna Jha | | |
|--------------------|--|--|--|
| Sex: | Female | | |
| Mother's Name: | Khushboo Jha | | |
| Address: | Basantpur, Jhitkahi, Muz. | | |
| Diagnosis: | Acute respiratory infection, Viral infection and | | |
| | difficulty breathing. | | |
| Date of Admission: | 31 th /March/2025 | | |

Overall Analysis: - Karuna Jha, was brought to the hospital in the morning hours of 31th March 2025 in a critical condition by her parents. The condition of the kid is critical. Patient has Suffering from severe symptoms for ARI, inspiratory stridor due to narrow airways, this can range from mild to severe and it might lead to significant breathing distress unless treated immediately. The kid has been admitted in NICU with 24 x 7 observation of concerned doctors and necessary treatment has been initiated. There conditions can be severe and require urgent medical attention to address the deficiencies and other complications, regular assessment and check up is required. The patient comes from a financially weaker section, Kid's father is a rickshaw puller and mother a house wife who can't take care of the medical expense, so they need financial help of approx Rs. 96,420/- For almost 12 days of treatment. Please provide financial support for the same.

Estimated Fund required during Hospital Stay and Overall Treatment.

| S.No. | Element | Unit | Rate (INR) | Price (INR) |
|-------|-----------|------|------------|-------------|
| 1 | NICU | 12 | 3000.00 | 36000.00 |
| 2 | Nursing | 12 | 800.00 | 9600.00 |
| 3 | Visit | 12 | 1000.00 | 12000.00 |
| 4 | Procedure | 1 | 5000.00 | 5000.00 |
| 5 | Medicine | 12 | 560.00 | 6720.00 |
| 6 | RBS | 12 | 100.00 | 1200.00 |
| 7 | Oxygen | 219 | 100.00 | 21900.00 |
| 8 | Warmer | 8 | 500.00 | 4000.00 |
| | | | | 96,420.00 |

Spull 32/03/15

भीवा में भवर कंसन

महायाय अम िमेदन है की मेरी देरी करूणा आ आ की अन्ती मात्र 10 दीन की ही है, जो जीवीर बीमादी की थुझ रही है, जो भी इसमा जनमजात है। डॉक्22 का कहना है की इसकी अनमत मेंबंही समस्त्रा ह और वाजवलं इंप्रेक्सन और भाग ही और असे विस्तात है। डॉक्टर का महला है की वर्षमा इलाज जल्द में जलद मान भरना होगा नहीं ती इराका वन्यमा मुस्तिल है। हांम्य का कहना रे की इसका अन्ति इलाम होतु 96,420/-की स्वच आएगी और लगमगं 12 दीन तक का समाय लगेगा। अस्यंत अवीवी में एका रहे परिवार के लिए यह बहुत वरी र्यम है, मेरे पति रिस्मा जारी है और में अपने धर मा देख भाल अरो है ऐसे में ब्रुगा बरा एमम अहा

अगरः श्रीमान भी मेरी अम िनवेदन हुए मेरी आश्रीक एक देनिय दियरी की देखते अमान का सदा अनारी रहेंगे।

July 3/x

शापमा निश्वासी

